Vo-h‘ng 'T\neora- I\
Given each individuals Pve'Ferences, how 1 Mmake a "fair" decision
for  the 3rou(>?
"Plural({-j Method ¢ Simple but ...
" May violate Conclovcet Criterion,
" Issue of Insinceve Voting
= Instant Runoff Vohing ¢ Addvesses issue of insinceve voting  but...
" May violate Concloveet Criterion,

" May violate Mono-l-om‘n“ry Criterion,
-~ Bovda Count

- CoPelano( Method

Bovda Count : Seel(irg Consensus

+ Assign f rankings i 1 for last, 2 for sewnd-t- last ...
point  values for each option.
- From PveF. sched, ' Poirﬂ-s per vote Hmes # votes & add.
" Option with Porn-ls wins.
Ex: # Votes 3 2 3 4

45 Cholce | Reeses | Reeses | Stiffles | M3 M&

2™ Choice | M3 Ms | Stitles | M8 Ms | Skiffles
3'4 Chotce Stitfles M3 Ms TReeses | Reeses

Reeses [Lonﬂ Na%\ L (3+3+3) B+)+(+ ) +(+1+]+]) = 22
Shortec l,t)aa:

TReeses + + t+ _ = _ wins

Mg M's ¢ + + t = Borda Count.
SKitHes + + + =




G'rouPs‘ Fnd Your winher with Borda Count.

Downside | Ma\/ violate which says +Hot
one option has majoerj over 507 of 1% cheice votes, +hat opHion

should win.

However, +his method is more . ecause # con

choose a  more broaollﬂ OfceP’l'alo|e option; mighi- be an ao{vomi-a%e
in  some situations.

Downside 2 ¢ May violate (bhdorcet Critevion .

CoFeland's Method i Head 4o Head
‘ ComPare eoch pair 1 P+ H  preferred | 2 pt if te.
: Opﬁon with  most Poin+s wins.

Ex  TReeses’ vs MEMs Reeses’ vs  SKittes MxMs  vs  SKitfles
M&Ms SKittles MaM's

Reeses ¢ O SKittles © 1 MxM's ¢ 2 (winnec)



GrouPs‘ Find Your winnec with Copelands Method.

Downside i"Mo% violate Criterion,
which says that if a ophion is removed From the ballot,
+hat  should not  effect +he outrcome of +he election.

Downside 2 Eosy Y enok in & .



